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R (FRHT - 0% - H bEs - k) 2 107 TH
[NER]  JEALRR T 7 —~ () 1 50 M
ERN| 1 57 T
WEF (TEER 7S - B g 146 1 10,142 +H
[NFR]  TANT BRI 8 1t 771 TH
T = 1 56 M
7 4 2 361 FH
BUT HrdE T30 1 167 TH
h—7 = A=3—(f 1 56 FH
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/NP SR T3 () 3 1F 250 T-HM
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o — = 2 11 1t 590 FH
A R R 1 82 TH
S EIEA 2 1 154 FH
FH 3/ = 25 B () 1 82 FH
HARNR— Yo B —A 27 oo~ A DR 2 1 173 FH
H A 3K 2 1 134 F+H
T B T3 4 fF 434 FH
D, 50 2,936 TH
PR (R 25 - ek ) 95 f4: 6,441 TH
[NER] EBAZ7—~(H 1 57 TH
MSD( 3 216 T
TANT BRI 29 £ 1,804 TH
Ty RS 2 111 M
WENVENT 3 301 FHM
=—H AR 2 1 68 TH
TF0) « AX AT T AR 5 4 434 FH
B+ 741 2 226 T-H
I VT 4 AT 77—~ 2 4 108 +H
INAF 2 /R 1 97 +H
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TR e A — RAT AT W 1 68 TH
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2= —E— Uy U 1 57 TH
JBAL % T 77—~ 1 57 T
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YN 1 57 THM
/INEF SR T340 4 1 284 FH
RIG R 3 1 132 FH
KB R 5 T E 0 2 1 183 FH
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D7V TF 4 AT 7 —< R 3 173 FH
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HH 37 = ZE BRI 2 140 TH
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T R TR 1 56 T-M
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o — = 2 3 1 181 FH
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SR (B 3 261 FH
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A K R 2 1 233 TH
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Yoo 7r—~<ip 1 50 FH
£ FH ALK 2 114 TH
370 = ZE RS ER 3 1 175 TH
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ZFDih, 1 30 FH
14 712 FH
Meiji Seika™” 7 /L~ () 1 {4 113 FM
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AN i S e 2 68
HARA—FAV)—(R 1 34
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